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gouda

havarti

Cheeses

mozzarella
electric slide Wedding Years First Names

macarena 1921
1940

merengue
1942
samba 1975
tango 1986

1. The cheddar enthusiast doesn't know how to do the samba.

2. The person who dances the samba is not Rose.

3. The person married in 1942 loves havarti.

4. The person who dances the macarena got married after the person who dances the electric slide.
5. The person married in 1975 is Melany.

6. The 5 people were the person who dances the tango, the havarti enthusiast, Clara, the person married in 1975, and
the person who dances the samba.

7. The gouda enthusiast doesn't know how to do the macarena.

8. The mascarpone enthusiast got married after Madeleine.

9. The mascarpone enthusiast is not Issac and doesn't know how to do the electric slide.

10. The person married in 1921 is not Madeleine.

11. Of Madeleine and the person who dances the macarena, one loves gouda and the other loves havarti.
12. The person who dances the macarena got married after the person who dances the electric slide.

13. Either the person who dances the tango or the person who dances the electric slide is Madeleine.
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